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20 polnts for each questlon [ :;% - ﬁ\ )

1. Explain the fallowing tlrrn_l'_'

1). Conflguration managesent

2%, Hanufacturing reacurces plannlng
‘a). ouallty robust demign,

4). Breaakevan analysls

5). MWork sampling

2. Distingulsh betwsan dependant and indespendent desand in & McDonald's,
Ln an integrated menufacturar of peraonal copiera, and Ln a stationary
supply house. - R

9. Three new=product ldeas have been suggested. These ideas have been
rated as follows: e ‘ .

Product
A o c 5 Helght (%)
1. Compatibllity 4 2 2 10
2, Patent ' g 2 4 20
a. Technlcal risk L 2 4 1o
4. Competitlve edge 1 Xh 4 F « 18
&. Produclbility it 2 3 20
L &, Sale's-prospecte " e 5 3 Lo ;
"l =7, Development cost . V1. 2 4 15
e U T Bl T g = g ot e e e Ear g

a. Dotermine.a woighted score. for sach product Ldea. Uhat is the ranking
of the thres productay _ !¢ -

b. What are some of the advantages and disadvantages of this methed of
product selsction? . ;

d. You are nﬁlnn to start a new business. The activities and times regulired
ars glven below: " .

g ; ({MImx)
i Expadlting cost -
Activity per day el
1 =2 % 50
2 =3 a0 -
’ 2 -4 40

3 -4 20 s
4~ 5 20 , £
3 =05 50

a. Find the critical path and project completion time.

‘b. What is the ES,LS.EF and LF for each activity?

C. How much I the total slack?

d. Supposs the projesct coppletlon must bes reducssd by 1 day. The comt of

o expediting varlous actlivities ars shown sbowe. What "
hew much will It comt? should be done and

5. A manufacturer of sutomoblls carburstor Is congidering three locatlons -
Talpel, Talchung, and Kachslung = for & new plant, Cost studies Indicate
that fixed gcosts per yesr at the sites are $30,000, $60,000 and $110,000
ragpoct lvaly: and uurlahlu-qunt: ars %75 per unlk, %45 par unlt and ;25
plr_unit. raspectivaly. The expectaed salling price of the carburetors
Produced is $120. The company wishes to flnd the most economical locatlon
for an expected volume of 2,000 units por year,



P B AR K A S BT BT ER e A

ROWT ERTEREE suan: 31it s

1. [15%)]
ATRARHE 2 BRRE0T

2. M TRTFMG, SHEEERTE,
[- 5% (a) Microprocessor- 53 Microcompuler. . -
[ 5%] (&) Main Memory By Awxiliary Storage, ' .
[ 5%) fe} ROM Bt RAM. -

[ 5%) () Interactive Processing B Batch Processing.
[ 5%) (e} Spster Software Bt Appiication Saftware,

3. (158 -
-IRERIR Sequential Files, Indexed Files, B Direct {or Relative) Files TzEETIL
BRI LZERE -

4. [15%)
TR2ZRHETRE Hierarchical Databare, Metwork Databate, B Relational

Delabars. IREIRREILE AR

. Oy ol ; '
sl *““—l!ﬂmnﬂﬂnﬂﬂmmum&whm nn@-.-mfﬂmwm
(4} Implementation, B (5) Mainienance, PEET— RN T _

6. [15%).
LR EAN= AW (1) Modules, (2) Control Structures, B (1) Single
nwﬂﬂ'f-- L Esp il o =



